Math 303: Quiz # 3

Fall 2013, p minutes

e Write your name and Student ID number in the space provided below and sign.

Name, Last Name Student ID Number

Signature

1 (7 points) Let f/: C - C, u: R* = R, and v : R? — R be functions such that for all 2,y € R,

f(@ 4+ 1y) = u(z,y) +iv(z,y). Given that w(z,y) = zy, find the general form of v(z

[ is an entire function, i.e., it is differentiable at every z € C.
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2 (10 points) Find the singularities of the funetion f(z) = e

determine if they are
essential singularities or poles, and for each pole find both its order and the residue of the function.
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3 (13 points) Evaluate / Coqﬁd,ﬁ ‘
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